
Math F113X: Numbers and Society January 21, 2025

Worksheet 3: Voting Theory (Borda Count & Copeland’s Method)

Group Names:

1. A di!erent class is voting on what kind of ice cream to have. The choices are strawberry
(S), chocolate (C), and vanilla (V). The students in the class ranked their ice cream choices
and the following preference table was constructed.

# votes 8 9 6 10

1st choice S V S C

2nd choice V C C V

3rd choice C S V S

(a) How many students were in the class?

(b) Is there a majority winner?

(c) Who is the plurality winner?

(d) Who is the winner of this election using IRV? (show work below)

(e) Who is the winner of this election using Borda Count? (show work below)
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Here’s the preference schedule again.

# votes 8 9 6 10

1st choice S V S C

2nd choice V C C V

3rd choice C S V S

(f) Compare all the head-to-head matchups. Who wins in each matchup? Is there a
Condorcet winner?

(g) Who is the winner using Copeland’s method?

(h) Of these four methods, which one do you think was the most fair, and why?
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V gets 2 points belause it won 2
head to headmatches

C gets I point belause it won one head to headmatches

S gets 0 points
because it lost all head to headmatches

V wins underCopeland'smethod


